

Asymptotic Distribution of the Jump Change-Point Estimator*

Changchun TAN¹ Huifang NIU² Baiqi MIAO³

Abstract The asymptotic distribution of the change-point estimator in a jump change-point model is considered. For the jump change-point model $X_i = a + \theta I\{[n\tau_0] < i \leq n\} + \varepsilon_i$, where ε_i ($i = 1, \dots, n$) are independent identically distributed random variables with $E\varepsilon_i = 0$ and $\text{Var}(\varepsilon_i) < \infty$, with the help of the slip window method, the asymptotic distribution of the jump change-point estimator $\hat{\tau}$ is studied under the condition of the local alternative hypothesis.

Keywords Change-point, Local alternative hypothesis, Asymptotic distribution

2000 MR Subject Classification 62F12, 62G20

1 Introduction

The change-point analysis is widely used in many fields including quality control, economics and finance and so on (see [1–6, 8, 21, 24]). There is rich literature on the change-point analysis under the assumption that random variables in consideration are independent. Among others, Chernoff and Zacks [9] proposed a test statistic for detecting a mean shift in normal distributions; Ramanayake and Gupta [19] used a likelihood ratio test based method to tackle change-point problems in exponential distributions; Daniel and Hartigan [11], Rudoy et al [20] studied the change-point problems by using Bayesian approach; Csörgő and Horváth [10], Huskova [15] discussed the nonparametric methods used in the change-point analysis; Chen [7] dealt with the inference on jump shift and Miao [16] considered the inference on the slope change-point and so on.

About the study of asymptotic distribution of the change-point estimator, there is little literature, since it is involved into many theories of large samples. However, it is very important to the depth of the change-point theory and its application. In the local alternative hypothesis, Bai [2] and Bai and Perron [3] proposed the estimation of change-points in a linear regression model by minimizing the sum of squared residuals and obtained its limiting distribution. The

Manuscript received September 28, 2010. Revised January 2, 2012.

¹School of Mathematics, Hefei University of Technology, Hefei 230009, China.

E-mail: cctan@ustc.edu.cn

²College of Mathematics, Luoyang Normal University, Luoyang 471022, Henan, China.

E-mail: hfniu@lynu.edu.cn

³Department of Statistics and Finance, University of Science and Technology of China, Hefei 230026, China. E-mail: bqmiao@ustc.edu.cn

*Project supported by the Major Programs of the Ministry of Education of China (No. 309017), the Humanities and Social Sciences Project of the Ministry of Education of China (No. 12YJC910007), the Anhui Provincial Natural Science Foundation of China (No. 1208085QA12) and the Fundamental Research Funds for the Central Universities (No. 2011HGXX1078).

kernel-type estimation method is used to estimate the time of change in the mean in a sequence of independent observations in [13]. At the same time, the asymptotic distribution of the change-point estimator is derived when the size of the change is small. For the series of the independent and exponentially distributed random variables, Fotopoulos and Jandhyala [12] gave the exact expression for the asymptotic distribution of the maximum likelihood estimate of the change-point. The modified information criterion (MIC) is applied to detect the estimation of multiple change-points and their limiting distribution in [17]. Perron and Qu [18] studied the limiting distribution of the estimates of the structure change-point for both fixed and shrinking magnitude of change in the linear regression model.

In [7], the problem of testing and estimation about the change-point has been studied. Consider the model with at most one jump change in [7]:

$$X_i = \begin{cases} a + \varepsilon_i, & 1 \leq i \leq [n\tau_0], \\ a + \theta + \varepsilon_i, & [n\tau_0] < i \leq n, \end{cases} \quad (1.1)$$

where a, θ and $\tau_0 \in (0, 1)$ are unknown parameters, $[a]$ denotes the integer part of a number a , and θ is called the jump at the change-point τ_0 . $\varepsilon_1, \dots, \varepsilon_n$ are independent identically distributed random variables with $E(\varepsilon_i) = 0$ and $\text{Var}(\varepsilon_i) = \sigma^2 < \infty$. In this paper, based on [7], we will discuss the asymptotic distribution of the change-point estimator by the slide window method in the local alternative hypothesis further.

For convenience, throughout the paper, we let

$$Y_m = \frac{1}{\sqrt{2l}} \left(\sum_{i=m+1}^{m+l} X_i - \sum_{i=m-l+1}^m X_i \right), \quad X_i^* = X_i - EX_i.$$

At the same time, $c, c_1, \dots \in (0, \infty)$ stand for positive constants whose values do not depend on n and may vary from formula to formula.

2 The Asymptotic Distribution of $\hat{\tau}$

If we know in advance or by the test in [7] that there is a change, then we define the estimator of τ_0 as

$$\hat{\tau} = \frac{\hat{m}}{n} = \frac{1}{n} \min\{m : |Y_m| = \max_{l \leq j \leq n-l} |Y_j|\}. \quad (2.1)$$

When the jump θ is a constant, the consistency and convergence rate of the change-point estimator $\hat{\tau}$ have been studied in [22–23]. In this paper, we mainly discuss the asymptotic distribution of $\hat{\tau}$ in the local alternative hypothesis, that is, the jump θ depends on the size of the sample n . Hence, we denote it by θ_n , and θ_n satisfies $\theta_n \rightarrow 0$ as $n \rightarrow \infty$. If θ is a constant independent of n , the results for the independent binomial distributed case in [14] indicate that the limiting distribution of $\hat{\tau}$ depends on the underlying distributions in addition to θ . Consequently, confidence intervals cannot be easily constructed. Note that if θ_n is a constant or it is large relative to the variances of ε_i , the change-point estimation is usually quite precise. Hence, in practice it may be more important to construct confidence intervals for τ_0 when the jump θ_n is small.

To derive the asymptotic distribution of $\hat{\tau}$, we define

$$V^*(m) = Y_m^2 - Y_{m_0}^2, \quad V_n^*(s) = V^*\left(\left[m_0 + \frac{s}{\theta_n^2}\right]\right) \quad (2.2)$$

and

$$W(s) = \begin{cases} W_1(-s), & s < 0, \\ 0, & s = 0, \\ W_2(s), & s > 0, \end{cases} \quad (2.3)$$

where $\{W_1(s), 0 \leq s < \infty\}$ and $\{W_2(s), 0 \leq s < \infty\}$ are two independent Wiener processes with $W_1(0) = W_2(0) = 0$.

Theorem 2.1 Assume that (1.1) and (2.1) hold, and $X_1, X_2, \dots, X_n$ are independent random variables which satisfy

$$E|X_i|^\delta < \infty, \quad i = 1, 2, \dots, n \quad \text{for some } \delta > 2; \quad (2.4)$$

$l = l_n$ is a positive integer such that

$$n^{\frac{2}{\delta}} \ll l \ll n, \quad (2.5)$$

where $l \ll n$ means $\lim_{n \rightarrow \infty} \frac{l}{n} = 0$. Further, let

$$m_0 = [n\tau_0], \quad \hat{m} = [n\hat{\tau}], \quad m = [n\tau] \quad \text{with some } 0 < \tau < 1. \quad (2.6)$$

When the jump θ_n satisfies

$$\theta_n \rightarrow 0, \quad \frac{l\theta_n^2}{\log n} \rightarrow \infty, \quad (2.7)$$

for all $M > 0$, as σ^2 is known, we have

$$V_n^*(s) \xrightarrow{D[-M, M]} \sqrt{6} \sigma W(s) - |s|, \quad (2.8)$$

$$\frac{n\theta_n^2}{6\sigma^2}(\hat{\tau} - \tau_0) \xrightarrow{d} \arg \sup_{-\infty < s < +\infty} (W(s) - |s|), \quad (2.9)$$

where $D[-M, M]$ means the weak convergence on $[-M, M]$, and $W(s)$ is a two-side Brown motion on $(-\infty, +\infty)$ defined in (2.3).

Let

$$\hat{X}_m = \frac{1}{m} \sum_{1 \leq i \leq m} X_i, \quad \tilde{X}_m = \frac{1}{n-m} \sum_{m < i \leq n} X_i.$$

Then we propose the estimators for σ^2 and θ_n as follows, respectively

$$\hat{\sigma}_n^2 = \frac{1}{n} \min_{1 \leq m \leq n} \left\{ \sum_{1 \leq i \leq m} (X_i - \hat{X}_m)^2 + \sum_{m < i \leq n} (X_i - \tilde{X}_m)^2 \right\}, \quad (2.10)$$

$$\hat{\theta}_n^2(m) = (\tilde{X}_{m+l} - \hat{X}_{m-l})^2. \quad (2.11)$$

Theorem 2.2 Assume that all the conditions of Theorem 2.1 hold. When σ^2 is unknown, we still have

$$\frac{n\hat{\theta}_n^2(\hat{m})}{6\hat{\sigma}_n^2}(\hat{\tau} - \tau_0) \xrightarrow{d} \arg \max_{-\infty < s < +\infty} (W(s) - |s|), \quad (2.12)$$

where $W(s)$ is a two-side Brown motion defined in (2.3), $\hat{\sigma}_n^2, \hat{\theta}_n^2(\hat{m})$ are defined in (2.10) and (2.11), respectively, and $\hat{m}$ is the consistence estimator of m_0 .

It is noted that Theorems 2.1 and 2.2 can be used to construct the asymptotic confidence interval and test the existence of a change-point τ_0 . At the same time, it provides some qualitative information on estimation of other parameters related to the change-point in the model.

In addition, it is easy to see that the conclusion of Theorem 2.1 (Theorem 2.2) holds only if X_i ($i = 1, 2, \dots, n$) satisfy $E|X_i|^\delta < \infty$ for some $\delta > 2$, that is, the errors ε_i ($i = 1, 2, \dots, n$) only need to satisfy $E|\varepsilon_i|^\delta < \infty$. Hence, the result of Theorem 2.1 (Theorem 2.2) remains true for the weighty-trail distribution, such as t -distribution, Pareto-distribution and so on, which are widely used in economics and finance. Hence Theorem 2.1 plays a very important role in application to economics and finance and so on, such as the analysis of financial contagion.

Remark 2.1 If X_i ($i = 1, 2, \dots, n$) are independent normal random variables, then the window width l_n can be relaxed as

$$\log^2 n \ll l \ll n. \quad (2.13)$$

Remark 2.2 If X_i ($i = 1, 2, \dots, n$) are independent non-normal random variables, but the moment-generated function of X_i exists, that is,

$$Ee^{tX_1} < \infty \quad \text{for some } t > 0, \quad (2.14)$$

then the window width l_n can also be chosen as (2.13).

To prove the above theorems, we need the following lemmas first.

Lemma 2.1 Assume that all the conditions of Theorem 2.1 hold. Then we have

$$|\hat{\tau} - \tau_0| = O_p\left(\frac{1}{n\theta_n^2}\right). \quad (2.15)$$

The proof can be found in [23].

Lemma 2.2 Let X_i ($i = 1, \dots, n$) be independent random variables with $E|X_i|^\beta < \infty$ for some $\beta > 2$, satisfying

$$X_i \sim F(x), \quad i = 1, \dots, m_0; \quad X_i \sim F(x - \theta), \quad i = m_0 + 1, \dots, n. \quad (2.16)$$

Then we have

$$|\hat{\theta}_n - \theta| \rightarrow 0 \quad a.s., \quad |\hat{\sigma}_n^2 - \sigma^2| \log n \rightarrow 0 \quad \text{in } P, \quad (2.17)$$

where $\hat{\sigma}_n^2, \hat{\theta}_n^2$ are defined in (2.10) and (2.11), respectively.

The proof can be found in [7].

Proof of Theorem 2.1 For every $M > 0$, let $d(n) = \frac{M}{\theta_n^2}$. By Lemma 2.1, it follows that $\hat{m} \in (m_0 - d(n), m_0 + d(n))$ in P . By (2.7), we know that $d(n) \ll l$. Hence we only need to examine the behavior of $V^*(m)$ for those m in the neighborhood of m_0 such that $m = [m_0 + \frac{s}{\theta_n^2}]$, where s varies in an arbitrary bounded interval, that is, $-M \leq s \leq M$.

Notice that $Y_m = \frac{1}{\sqrt{2l}} \left(\sum_{i=m+1}^{m+l} X_i - \sum_{i=m-l+1}^m X_i \right)$, which is constructed by i.i.d. random variables series. It is easy to see that $EY_m = 0$ for $m \leq m_0 - l$ or $m > m_0 + l$. As for $m_0 - l < m \leq m_0$, we have $EY_m = \frac{1}{\sqrt{2l}}(l + m - m_0)\theta_n$ by simple calculation, and $EY_m = \frac{1}{\sqrt{2l}}(l - m + m_0)\theta_n$ for $m_0 < m \leq m_0 + l$.

By the simple decomposition and computation, $V^*(m)$ can be rewritten as

$$\begin{aligned} V^*(m) &= [(EY_m)^2 - (EY_{m_0})^2] + [(Y_m - EY_m)^2 - (Y_{m_0} - EY_{m_0})^2] \\ &\quad + 2(EY_m - EY_{m_0})(Y_{m_0} - EY_{m_0}) + 2EY_m(Y_m - EY_m - Y_{m_0} + EY_{m_0}) \\ &\triangleq A_1 + A_2 + A_3 + A_4, \end{aligned} \quad (2.18)$$

where

$$A_1 = \begin{cases} -\frac{1}{2}l\theta_n^2, & m \leq m_0 - l \text{ or } m > m_0 + l, \\ -\left(1 - \frac{m_0 - m}{2l}\right)(m_0 - m)\theta_n^2, & m_0 - l < m \leq m_0, \\ -\left(1 - \frac{m - m_0}{2l}\right)(m - m_0)\theta_n^2, & m_0 < m \leq m_0 + l; \end{cases} \quad (2.19)$$

$$A_2 = \frac{1}{2l} \left(\sum_{i=m+1}^{m+l} X_i^* - \sum_{i=m-l+1}^m X_i^* \right)^2 - \frac{1}{2l} \left(\sum_{i=m_0+1}^{m_0+l} X_i^* - \sum_{i=m_0-l+1}^{m_0} X_i^* \right)^2; \quad (2.20)$$

$$A_3 = \left(\sum_{i=m_0+1}^{m_0+l} X_i^* - \sum_{i=m_0-l+1}^{m_0} X_i^* \right) \cdot \begin{cases} -\theta_n, & m \leq m_0 - l \text{ or } m > m_0 + l, \\ -\frac{(m_0 - m)}{l}\theta_n, & m_0 - l < m \leq m_0, \\ -\frac{(m - m_0)}{l}\theta_n, & m_0 < m \leq m_0 + l; \end{cases} \quad (2.21)$$

$$A_4 = \begin{cases} 0, & m \leq m_0 - l \text{ or } m > m_0 + l, \\ \left(1 - \frac{m_0 - m}{l}\right)\theta_n \left(2 \sum_{i=m+1}^{m_0} X_i^* - \sum_{i=m+l+1}^{m_0+l} X_i^* - \sum_{i=m-l+1}^{m_0-l} X_i^* \right), & m_0 - l < m \leq m_0, \\ \left(1 - \frac{m - m_0}{l}\right)\theta_n \left(\sum_{i=m_0+l+1}^{m+l} X_i^* + \sum_{i=m_0-l+1}^{m-l} X_i^* - 2 \sum_{i=m_0+1}^m X_i^* \right), & m_0 < m \leq m_0 + l. \end{cases} \quad (2.22)$$

Now, we first consider the case of $m \leq m_0$, that is, $s \leq 0$. By (2.19), as $n \rightarrow \infty$, we get

$$A_1 = -(m_0 - m)\theta_n^2 \left(1 - \frac{m_0 - m}{2l} \right) = -\left(1 - \frac{m_0 - m}{2l} \right)(-s) \rightarrow -|s|. \quad (2.23)$$

Since

$$A_2 = \frac{1}{2l} \left(2 \sum_{i=m+1}^{m_0} X_i^* - \sum_{i=m-l+1}^{m_0-l} X_i^* - \sum_{i=m+l+1}^{m_0+l} X_i^* \right)$$

$$\cdot \left(2 \sum_{i=m_0+1}^{m+l} X_i^* + \sum_{i=m+l+1}^{m_0+l} X_i^* - \sum_{i=m-l+1}^{m_0-l} X_i^* - 2 \sum_{i=m_0-l+1}^m X_i^* \right) \quad (2.24)$$

and

$$\begin{aligned} \max_{m_0-d(n) \leq m \leq m_0} \left| \sum_{i=m+1}^{m_0} X_i^* \right| &= \max_{m_0-d(n) \leq m \leq m_0} \left| \sum_{i=1}^{m_0-m} X_{i+m}^* \right| \\ &= \max_{0 \leq m_0-m \leq d(n)} \left| \sum_{i=1}^{m_0-m} X_{i+m}^* \right| \\ &= \max_{1 \leq t \leq d(n)} \left| \sum_{i=1}^t X_{i+m}^* \right| \\ &= d^{\frac{1}{2}}(n) \max_{1 \leq t \leq d(n)} \left| \frac{1}{d^{\frac{1}{2}}(n)} \sum_{i=1}^t X_{i+m}^* \right| \\ &\rightarrow d^{\frac{1}{2}}(n) \sup_{0 \leq s \leq 1} |W(s)|, \end{aligned} \quad (2.25)$$

$$\begin{aligned} \max_{m_0-d(n) \leq m \leq m_0} \left| \sum_{i=m_0+1}^{m+l} X_i^* \right| &= \max_{0 \leq m_0-m \leq d(n)} \left| \sum_{i=1}^{l-(m_0-m)} X_{i+m_0}^* \right| \\ &\leq \max_{0 \leq m_0-m \leq d(n)} \left| \sum_{i=1}^l X_{i+m_0}^* \right| + \max_{0 \leq m_0-m \leq d(n)} \left| \sum_{j=1}^{m_0-m} X_{m_0+l-j}^* \right| \\ &\rightarrow l^{\frac{1}{2}} O_P(1) + d^{\frac{1}{2}}(n) \sup_{0 \leq s \leq 1} |W(s)| \\ &= l^{\frac{1}{2}} O_P(1) + l^{\frac{1}{2}} \frac{M^{\frac{1}{2}}}{l^{\frac{1}{2}} \theta_n} \sup_{0 \leq s \leq 1} |W(s)| \\ &= l^{\frac{1}{2}} \left(1 + \frac{M^{\frac{1}{2}}}{l^{\frac{1}{2}} \theta_n} \right) O_P(1). \end{aligned} \quad (2.26)$$

Combining (2.24)–(2.26), we have

$$\begin{aligned} A_2 &= \frac{1}{2l} \left(\frac{\sqrt{M}}{\theta_n} O_P(1) l^{\frac{1}{2}} \left(1 + \frac{M^{\frac{1}{2}}}{l^{\frac{1}{2}} \theta_n} \right) O_P(1) + \frac{M}{\theta_n^2} O_P(1) \right) \\ &= \left(\frac{\sqrt{M}}{l^{\frac{1}{2}} \theta_n} + \frac{M}{l \theta_n^2} \right) O_P(1). \end{aligned} \quad (2.27)$$

By (2.21), we obtain

$$A_3 = -\frac{1}{l} (m_0 - m) \theta_n l^{\frac{1}{2}} O_P(1) = -\frac{1}{l} \frac{-s}{\theta_n^2} \theta_n l^{\frac{1}{2}} O_P(1) = \frac{-s}{l^{\frac{1}{2}} \theta_n} O_P(1). \quad (2.28)$$

It follows from the definition of $m = [m_0 + \frac{s}{\theta_n^2}]$ and (2.22) that

$$\begin{aligned} A_4 &= \left(1 - \frac{m_0 - m}{l} \right) \frac{(-s)^{\frac{1}{2}}}{\sqrt{m_0 - m}} \left(2 \sum_{i=m+1}^{m_0} X_i^* - \sum_{i=m-l+1}^{m_0-l} X_i^* - \sum_{i=m+l+1}^{m_0+l} X_i^* \right) \\ &\rightarrow \left(1 - \frac{m_0 - m}{l} \right) \sqrt{6} \sigma W_1(-s). \end{aligned} \quad (2.29)$$

Putting together (2.7), (2.23) and (2.27)–(2.29), we have

$$V_n^*(s) \xrightarrow{D[-M,0]} \sqrt{6} \sigma W_1(-s) - |s|. \quad (2.30)$$

Similar arguments give also

$$V_n^*(s) \xrightarrow{D[0,M]} \sqrt{6} \sigma W_2(s) - |s|. \quad (2.31)$$

Since $W_1(-s)$ is determined by X_m with $m \leq m_0$, and $W_2(s)$ is determined by X_m with $m > m_0$, we have $W_1(-s)$ and $W_2(s)$ are independent. Combining (2.30) and (2.31), for every $M > 0$, we have that on $C[-M, M]$,

$$V_n^*(s) \xrightarrow{D[-M,M]} \sqrt{6} \sigma W(s) - |s|, \quad (2.32)$$

where $C[-M, M]$ denotes the space of continuous function on $[-M, M]$. This finishes the proof of (2.8).

To obtain the limiting distribution of $\hat{\tau}$, define $C_{\max}[-M, M]$ to be the subset of $C[-M, M]$ such that each function has a unique maximum. It is straightforward to show that the argmax function is a continuous function on the set $C_{\max}[-M, M]$. By the continuous mapping theorem, we have

$$n\theta_n^2(\hat{\tau} - \tau_0) \xrightarrow{d} 6\sigma^2 \arg \sup_{-M < s < M} \left(W\left(\frac{s}{6\sigma^2}\right) - \frac{|s|}{6\sigma^2} \right). \quad (2.33)$$

Replacing $\frac{|s|}{6\sigma^2}$ by s in (2.33) and letting $M \rightarrow +\infty$, we get (2.9) immediately.

The proof is completed.

Proof of Theorem 2.2 Since

$$\frac{n\hat{\theta}_n^2}{6} \hat{\sigma}_n^2(\hat{\tau} - \tau_0) = \frac{\sigma^2}{\hat{\sigma}_n^2} \frac{\hat{\theta}_n^2}{\theta_n^2} \frac{n\theta_n^2}{6\sigma^2}(\hat{\tau} - \tau_0),$$

by Lemma 3.2 and Slutsky Lemma, we get (2.12) immediately.

Acknowledgement The authors are grateful to the referees whose comments lead to a considerable improvement on the presentation of the paper.

References

- [1] Aue, A., Gabrys, R., Horvath, L. and Kokoszka, P., Estimation of a change-point in the mean function of functional data, *J. Multivariate Anal.*, **100**, 2009, 2254–2269.
- [2] Bai, J., Least squares estimation of a shift in linear process, *J. Time Ser. Anal.*, **15**, 1994, 453–472.
- [3] Bai, J. and Perron, P., Estimating and testing linear models with multiple structural changes, *Econometrica*, **66**, 1998, 47–78.
- [4] Braun, J. V., Braun, R. K. and Muller, H. G., Multiple changepoint fitting via quaslikelihood, with application to DNA sequence segmentation, *Biometrika*, **87**(2), 2000, 301–314.
- [5] Chen, G., Choi, Y. K. and Zhou, Y., Nonparametric estimation of structural change points in volatility models for time series, *J. Econometrics*, **126**, 2005, 79–114.
- [6] Chen, G., Choi, Y. K. and Zhou, Y., Detections of changes in return by a wavelet smoother with conditional heteroscedastic volatility, *J. Econometrics*, **143**, 2008, 227–262.

- [7] Chen, X. R., Inference in a simple change-point model, *Scientia Sinica A*, **6**, 1988, 654–667.
- [8] Cheon, S. and Kim, J., Multiple change-point detection of multivariate mean vectors with the Bayesian approach, *Comput. Statist. Data Anal.*, **54**, 2010, 406–415.
- [9] Chernoff, H. and Zacks, S., Estimating the current mean of normal distribution which is subjected to change in time, *Ann. Statist.*, **35**, 1964, 999–1018.
- [10] Csörgő, M. and Horváth, L., Limit Theorems in Change-Points Analysis, John Wiley and Sons, New York, 1997.
- [11] Daniel, B. D. and Hartigan, J. A., A Bayesian analysis for change point problems, *J. Amer. Statist. Assoc.*, **88**, 1993, 309–319.
- [12] Fotopoulos, S. and Jandhyala, V., Maximum likelihood estimation of a change-point for exponentially distributed random variables, *Statist. Probab. Lett.*, **51**, 2001, 423–429.
- [13] Grabovskiy, I., Horváth, L. and Hušková, M., Limit theorems for kernel-type estimators for the time of change, *J. Statist. Plann. Inference*, **89**, 2000, 26–56.
- [14] Hinkley, D. V., Inference in two-phase regression, *J. Amer. Statist. Assoc.*, **66**, 1971, 736–743.
- [15] Huskova, M., Prakova, Z. and Steinebach, J., On the detection of changes in autoregressive time series I asymptotics, *J. Statist. Plann. Inference*, **137**, 2007, 1243–1259.
- [16] Miao, B. Q., Inference in a model with at most one slope-change point, *J. Multivariate Anal.*, **27**, 1988, 375–391.
- [17] Pan, J. and Chen, J., Application of modified information criterion to multiple change point problems, *J. Multivariate Anal.*, **97**, 2006, 2221–2241.
- [18] Perron, P. and Qu, Z., Estimating restricted structural change models, *J. Econometrics*, **134**(2), 2006, 373–399.
- [19] Ramanayake, A. and Gupta, A. K., Change points with linear trend followed by abrupt change for the exponential distribution, *J. Stat. Comput. Simul.*, **72**(4), 2002, 263–278.
- [20] Rudoy, D., Yuen, S. G., Howe, R. D. and Wolfe, P. J., Bayesian change-point analysis for atomic force microscopy and soft material indentation, *J. Roy. Statist. Soc. Ser. C*, **59**, 2010, 1–21.
- [21] Sertkaya, D. and Kadilar, C., A new Bayes estimate of the change point in the hazard function, *Comput. Statist. Data Anal.*, **51**, 2007, 2993–3001.
- [22] Tan, C. C., Niu, H. F. and Miao, B. Q., Convergence rate for the change-point estimator in a simple change-point model (in Chinese), *Chin. Ann. Math.*, **31A**(3), 2010, 257–264.
- [23] Tan, C. C., Hui, J. and Miao, B. Q., O_P convergence rate for the jump change-point estimator (in Chinese), *J. Systems Sci. Math. Sci.*, 2012, to appear.
- [24] Wu, Y., Simultaneous change point analysis and variable selection in a regression problem, *J. Multivariate Anal.*, **99**, 2008, 2154–2171.